—AX A RIHEA B HiE

(==
6 e ; : (2) Y (oo
*‘003 5o e Sibs (3) 7 <a/°
sl gl () .
=" e HEE st’e
O e = (24
[11](1) ?\I’f 0 EESEREERE HAE EaERaRnpR IERENGE
’g \0(,,
0 1o 25 30 40 5 6o Jo # 90
B R £°c)

[=]

®| Ag, Ce0x |0 & P fxee

L21) (8) .3 x IO‘; Mol /L (9) 1.2 X |0-+ o | /L
O] Lo x o7 mol/i (5020
(1) 2 K(UL03 - 302 + 2KAQ (2) Ca CO3
o RELE FBL W TP BER (1) 44
(5)] 258450, > 35S+ 2H20 (O L5yl (D] 2 4E
,,,,,,,,,,,,,,, m* 4HNO3 — (L (NOs)a + 2NO +2Ha0
O]
S CH3OH + WO = HCHO + Cut Ha0
CHz CooNo + NadH = CH4 + Na2(0;
(505)
(1) |” A I (2) 2 (3)
s K"‘Ef | B @45 Q‘ O,®
R C 21020790 % a-f4iL-2-77p0-10
¢
CHS‘ LHL-QHQ_— (,HJ_~OH CHB N C\"4 - LHl-OH L*‘h = Cl’ CHB
? Chls OH
(4> D """"""""""""""""""""""""""""""" 'E """""""""""""""""""""""""""""""
R A il LA B 2-2-713y
-
Crls-CH.-CH ~CH; 3\C :._C’H
| : N
OH W T,

(505)





